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(Feminism)
Answer any four questions form the following : 15%4=60
1.  What is feminism? Explain the traditional view about women. 3+12
2. Ciritically examine the different views enunciated by radical liberalists. 15

3. What is sex-difference? Discuss the root cause of sex-difference in the society.

3+12
4. Discuss, in detail, the view of ‘Care-Ethics’. 15
5. What is ‘Androcentricism’? What is matriarchal society? 7+8

6.  What was the view point of Rabindranath about women? Explain the different types of

Feminism. 5+10
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Are there relevant natural differences between women and men? Discuss with reference

to their view point of conservative feminists.

Write short note on :

(a) Sexism (b) Patriarchy (c) Feminist Ethics 4+4+7
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Or

(Philosophy of Mind)
Answer any four questions : 15%4=60
1.  What is sensation? Explain the characteristics of sensation. 8+7
2. Explain the Gestalt theory of learning. 15
3. Explain Freud’s theory of dream. 15
4.  What is consciousness? What are the characteristics of conseiousness. Distinguish
between subconscious and unconscious mind. 3+4+8
5. Explain the trial and error theory of learning of Thorndike. 15
6. What are the arguments in favour of the existence of unconscious mind? Discuss.
15
7.  Define memory. What are the factors of good memory? Discuss. 3+12
8. What is intelligence? Explain the method of Binnet-Simon test of measuring
Intelligence. 3+12
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